
l;= g+ sfo{qmd :yfg /sd-xhf/df_

1 ufkf:t/Lo cWoIf sk /lgª\u lzN* k|ltof]lutf ljBfno 400

2 ufkf:t/Lo o'jf nlIft elnjn k|ltof]lutf 300

3

ljBfno aflx/ /x]sf 15 v]lv 40 aif{sf o'jf 

nlIft eflj of]hgf tyf k]zf Joj;fo d'ns 2 lbg 

tflnd uf=kf= :t/Lo 200

4 o'jf nlIft sDKo"̂ / tflnd ;a} j*fx?df uf=kf= :t/Lo 450

5 o"jf nlIft pb\#f]if)f tyf g]t[Tj ljsf; tflnd uf=kf= :t/Lo 100

6 elnjn, g]^, *«]; / a"^ pknAw uf=kf= :t/Lo 250

7 v]ns'b ;fdfu|L-afnaflnsfx?s]f nflu_ uf=kf= :t/Lo 200
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o'jf tyf v]ns'b


